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Step.1 Problem Statement
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Step.2 Data and Information

collection
ot S0 O 2= U= =W AHEl : L=10m
2t £9| &£0l: h=3m
Y ST 2 59 2O BIXE 1 dy, dy
5 S0 RSt R
OIOIES| B> 12l AFE0le 292 : 2001 (10A12H)

(
Q4= 2001 x 421 x 27} x5% = 80001 :1U F+ 5%

Qn = %ﬁl = 444 4l [ hour : A| X3 =%
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Step.2 Data and Information
collection

_ZAQ_I OteA
= T =

JIHEE JI22 2 M 22 &= : 0.8 kg/cm3
= J1729 x10 2 243 1 4 kg/m3
Pounp +H>H,+H,
4
H: XS0 Ot 228t XA U= " S DIt H+¥fIH X2 =
Ol (m)
H.: Hel =20 U= =8 S0| 2R Z ot= L0 &4Zdt= =01 (mAg)
H,: H, 2l =& ShX2 &0IE &4 =5 (20t &4 + 22X £4!) (mAg)




design Variable




 Step 4. Identification ofa

Criterion to be optimaized
cost =15mx f (d,) +100mx f (d,) + f (pump)

f(P) : BEO| J1A - AHE K R0il et J1HS E&6tHU B
f(dy) : 22 iz - 22 XS dlal
f(dy) : &2 Jt2 - & &2 XS0l didl




Step 4. |dentitica

'1on of a

Criterion to be op
cost(d,,d,,I) =

'imailzed

15m(587000d,° +116000d, — 727)

+100m(587000d,° +116000d, — 727)
+ix102000
HIIM i Hae= EE2 A= (S0l ek 0 12 gt= JtAl= B4 O|L.

et HI= JtZ0] 1020008, &=0[ 125W, =10 ZE0] 10M, =0 FE0] 30

|/min O|C}.



 Step5. ldentificationof

Constraint
P
pump +3m28m+0.038 -3-(0. 00049) 038 -10- (0. 000049)
9789 2d 0.8 2d 9.8

P 2 2 2 2

s 15m dom 00082000 (41 (2 (2 1)
9789 d -9.8 5 5 5 5
L0 038 .10-(0.000049)°

7°d,”-9.8




Solution by

=xcel

[(=

tt)

| |cust

Function cost({d1l, d2, P)

|t 1|
i =
E|SE_

Then
1

i =10
End If

cost =

End Function

15 + (587000 + di ~ 2 + 116000 + d1 - 7273 + 100 + (BEYO00 + d2 ~ 2 + {16000 + d2 - 7272 + | + 102000

s &7 23 2%

SE A(E:

o [

e = O KM

i)

Z2Z1HOI|IA L coste 22t 1O}
OlZol JtHOIEZ CHAl A Xl Tt
Ol|ZIJtAHCZ HAtol Al SHE ol




olution by

Minimize p = 12304400% + 12069600y + 0Oz subject to
-4451 . 9% — 1483y - (1/9789)z <= 206

9734, 9x + 1483y + (1/9789)z <= EEE

W= 00,1103

<= 0,1103

== 0.01428

== 0.01428

<= ZBR000

L

Optimal Solution: p = 348061 « = 0.01428, v = 0.01428, z=0

Example

Erase Everything
Fraction
Integer

54 sh sh g7 -p

Tableau #1

-4451.9 -1483 —-0.0001 02155 1 1] 0
] 0 0 0 0 —-Z96
9734.9 1483 0.000102155 0 1 0
1] 0 0 0 1]

1 0 0 0 ]

1] 0 0 0 1]

1] 1 0 0 1]

1 0 0 0 ]

1 0 0 0 1]

1] - 0 0 1]

] 1 0 0 ]

1] 0 = 0 1]

IMplex

S 3HE oAl Simplex &
JelE= 0lsold =&k
S 2ol 2tC.

D1=1.4cm , D2=1.4cm
Cost=476060&

Ol LtztCt.

S22 138UE, 252

<=2 138UE AtEot(H

4= 312.000

Ct.

{0



Solution by Linprog

B Editor - C:WProgram FilesWMATLAB704Wworkiprojedt.m

File Edit Text Cell Tools Debug Desktop Window Help

P E| i RBoc| & MAS 8 BB R@| s

1 - f = [12304400; 12069600; 0]

2- &= [-4451.9 -1483 -1/9789

3 9794.9 1483 1,/9739

4 1 0 0

5 o1 0

G -1 0 0

7 o -1 0

a oo 1l:

9 - b= [-2968; B6G; 0.1103; 0.1103; -0.01428; -0.01428; 255000] ;
10

11 =[x, fval,exitflag,output, lambdal = linproalf,4,b, [1,[1,1b);

5> f(1)+n{1)+f (2)+x(2)+1 2008

1.1073e+006







